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int main(void) {
int A, B, C;
cin >> A >> B >> C;
if (A <= C and C <= B)
cout << "Yes" << endl;
else
cout << "No" << endl;

return O;
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int main(void) {
int N, M;

cin >> N >> M;

const int NMMAX = 50;
int A[NMMAX], B[NMMAX];

for (int 1 = 0; i < M; ++1i) {
cin >> A[i] >> B[il;

int road[NMMAX];
for (int i = 0; i < N; ++i) {
road[i] = 0;

for (int 1 = 0; i < M; ++i) {
road[A[i] - 1] += 1;
road[B[i] - 1] += 1;

for (int i = 0; 1 < N; ++1i) {

cout << road[i] << endl;

return O;

C: Big Array
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1 using 11 = long long;

2 const int AMAX = 100000;
s 11 cnt[AMAX + 1];

4

5 int main(void) {

6 int N;

7 11 K;

s cin >> N >> K;

9

10 for (int i = 0; 1 < N; ++i) {
11 int A, B;

12 cin >> A >> B;

13 cnt[A] += B;

14 }

15

16 for (int ans = 1; ans <= AMAX; ++ans){
17 if (K <= cntlans]) {

18 cout << ans << endl;
19 break;

20 }

21 K -= cnt[ans];

22 }

23

24 return O;

25 }

D: Score Attack
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1 using 11 = long long;
2 const 11 INF = 1LL << 50;

5 int main(void) {

6 int N, M;

7 cin >> N >> M;

8

9 const int NMAX = 1000;

10 const int MMAX = 2000;

1 int a[MMAX], b[MMAX];

12 11 c[MMAX];

13

14 for (int 1 = 0; i < M; ++1i) {

15 cin >> ali] >> bl[i] >> c[il;
16 clil = -cl[il;

17 }

18

19 11 dist[NMAX];

20

21 for (int 1 = 0; i < N; ++1i) {

2 dist[i] = INF;

23 }

24

25 dist[0] = 0;

26
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28 for (int loop = 0; loop < N - 1; ++ loop) {
29 for (int 1 = 0; i < M; ++i) {
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if (dist[a[i] - 1] == INF) continue;

if (dist[b[i] - 1] > dist[ali] - 1] + c[il) {
dist[b[i] - 1] = distlali]l - 1] + c[i];

11 ans = dist[N - 1];

bool negative [NMAX];

for (int i = 0; i < N; ++i) {

negative[i] = false;

for (int loop = 0; loop < N ; ++ loop) {
for (int 1 = 0; i < M; ++i) {
if (dist[a[i] - 1] == INF) continue;

if (dist[b[i] - 1] > dist[al[i]l - 1] + c[i]) {
dist[b[i] - 1] = dist[al[i]l - 1] + c[i];
negative[b[i] - 1] = true;

}

if (negativelal[i] - 1] == true) {
negative[b[i] - 1] = true;

}

if (negative[N - 1])
cout << "inf" << endl;
else

cout << -ans << endl;

return O;




